“EES 8

VadE — N7 0 A SRR (Rasseil))

- REGR BT HEEES

MR BT
X BN S
M EXEX 8 [
R AHE (A) 10,571 A
T SRR (B) 787,548,790 [
i< (C) 538, 368, 270 [
REEHSIEE (D) 160, 643, 360 M
B — N7 0 AR S A 1,322,797 [ (B+C-D) /AX 12 A
PRRER BT
X7y SRE S
Tt % 2K 8
JE~AEL (A) 3,440 A
R4 (B) 264, 779, 380 [
I8 — N2 7= 0 AR S A 923,649 [ (B/A) X 12 A
RE=E
X5y SHAE fii =
i o 2K 2 [
SREH L GE~) () 6,798 A
HE R (B) 33,990, 000 [
EE— A\ 72 0 AR S HHAE 1,305,000 [ (B/A) X261 H
FIEEAEE
Xy SR ik
ﬁ@%iﬁ 9 T
SREN R GE~) () 311 A
X FFE (B) 25, 253,200 [
HEEEFEEE (0 307,400 [
THE— AN G7-0 FR < 7 986, 261 (B+C) /AX 12
MEAROBEIL, FHHREE CER2HHEE) 1285,
REREFERES
TH H X 5 Bl fi =
NEE 72.17 |fah5. BH. FRTY AEEAEE
FEE 12.96 [faBE. (REMEIE. REES
XHEE (%) E T 11. 54 [WEFEA%, ke, WHEE, ERELSE
Z D, 3.33
it 100. 00

XEHIRBRT 4 FH OICIRE N G FEEZFH L2 b0 TH D, MBEMIIHIRE L TRl




